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Module 1 « M| L C
Q.1 Ilustrate the characteristics of an algonthm Explain the dlfferent problem | 10 | L1 | CO1
types of an algorithm. ‘
Explain asymptotic notations Wl’th“an appropriate graph1ca1 representatlon 10| L2 | CO1
s ¢ OR B
Q.2 Design a general plan for analyzing the non recurswe algorlthm Provide an | 10 | L3 | CO2
example for the same.
Design a general plan for analyzing recursive algorlthm and explain withan | 10 | L3 | CO2
example. it
: Module -2
Q.3 Design a binar X search algorithm. Derive its time efficiency. 10| L3 | CO2
Apply Strassen’s matrix multiplication method to multlply the given two | 10 | L3 | CO2
matrices ‘below. Give its time efficiency.
4 3 2 5 '
2 1 1 6
W OR
Q4 Obtain topological orde,rmg of elements usmg DFS and Source Removal | 10 | L3 | CO2
Method for the followmg graph Fig. Q4(a)
Fig.Q4(a)
. | Define Heap. Construct a heap for.the following data using heap sort. | 10 | L3 | CO2
Given the time efﬁc1ency of Heap Sort:7,4,3,1,2
Module - 3
Q.5 Let n =6, profts = (23, 45, 6, 18, 60, 5) and deadlines = (3,2, 1, 4,2,1). | 10 | L3 CcO1
Find the optimal sequence of the execution of jobs using Greedy algorlthm
Apply Kruskal algorithm'to. find minimum spanning tree for the below | 10 | L3 | CO1
graph, Fig.Q5(b).
Fig.Q5(b)
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Q.6 Find the shortest path from vertex “a” to all other vertices for thé"*‘following 10 | L3 | CO2
graph Fig.Q6(a).
Construct a Huffman code for the followiﬁg data: 10 | L3 | CO2
Character A | B|C|.D ]| |
Probability | 0.35 | 0.1 [ 0.2 | 0.2/1°0. 15
Find: (i) Huffman Tree (11) Decode the string “1001101 101001 101”
Module -4
Q.7 Find all pairs shortest path for the following graph, Fig.Q7(a). 10 | L3 | CO2
Define transitive closure. Write W:grshall’s algorlthm to compute transmve 10 | L3 | CO2
closure. Find its efficiency. o
Q.8 Apply multistage graph ngOfithm to find a m: 10 | L3 | CO2
‘t’ for the followmg 1nstance Fig.Q8(a). «
A ,,Apply dynamics programmmg, ﬁnd the optlmal solution for the given | 10 | L3 | CO3
instance below. With knapsack capac1ty W=5.
Item Welght Value
1 |fay, 27 $12
2 | 1| 810 IT LIBRARY
3 3 $204 Vi %R;ALDRE— 560 037
4 2 $15 i’
Module -5
Q.9 Find the subset ﬁ'om the given set with d = 15, s = {3, 7, 5, 6} by |10 | L3 CO2
constructing state space tree.
Define N-Queen’s problem. Find the solution space tree for 4-Queen’s | 10 | L2 | CO1

problem.
- OR
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Q.10 | a. | Solve the assignment problem using branch and bound method;v"u 10| L3 | CO3
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b. | Discuss briefly: g Y 10| L2 | CO1
(i) Random number generators

(i) Numerical Probabilistic Algorithms

(iii) Monte Carlo Algorithms & P
(iv) Las Vegas Algorithm
(v) NP complete classes
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